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Q.No. 15: Which one of the following is not related to image forntat?

A) .jpeg
B) .tiff
C) .wav
D) .bmp

The correct answer is option (C).wav. Inadvertently the option has been shown as (A) which is
corrected in the revised answer key.

Q.No. 32: Color harmony means
A) pleasing arrangements of colour
B) contrast of colours
C) complexity
D) none of the above

The correct answer is option (A) pleasing arrangements of colour. Inadvertently the option has been
shown as (C) which is corrected in the revised answer key.

Q.No. 2: What are the 3 primary colours?
A) green, red, and yellow-orange
B) red, white, and blue
C) green, orange, and purple
D) red, blue, and yellow

The correct answer is option (D) red, blue and yellow. Inadvertently the option has been shown as (B)
which is corrected in the revised answer key.

Q.No. 18: Which of the following are the features of Computer Graphics?
A) Creation and deletion of images by computer only
B) Deletion and manipulation of graphical images by computer
C) Creation and manipulation of graphics by computer
D) Creation of artificial images by computer only

The correct answer is option (C) Creation and manipulation of graphics by computer.

Q.No. 19: In style is the artist uses geometric shapes to show what he is trying to paint.
A) popart
B) impressionism
C) abstract
D) realism

The correct answer is option (D) realism.



Q.No. 39: Difference in colour and light is
A) harmony
B) contrast
C) unity
D) pattern

The correct answer is option (B) contrast. Inadvertently the option has been shown as (C) which is
corrected in the revised answer key.

Q.No. 40: is an imaginary line on which all lettersin a line of type stand
A) baseline
B) serif
C) boldface
D) typestyle

The correct answer is option (A) baseline. Inadvertently the option has been shown as (C) which is
corrected in the revised answer key.

Q.No. 28: Gesture Drawing is................
A) movement of action
B) landscapes
C) geometric drawing
D) none of the above

The correct answer is option (A) movement of action. Inadvertently the option has been shown as (C)
which is corrected in the revised answer key.



